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How is wordbuilding constrained by locality?
• Form–meaning dependencies among predicates & arguments,      

roots & functional structure

What factors guide morphological innovation?
• Reanalysis from phrase to lexeme, changing an anaphor’s category

• Analytical/structural ambiguity and dialect variation

How do we understand acceptability judgements of 
complex morphology?
• A linking theory that connects formal representations, morphological 

processing, and rating tasks

Big Questions for theory, acquisition, and processing of morphology 

Ordinary Georgian verbs have four structural positions

(1) ɡa= va- gd -etʰ
PART= 1TR- throw -PST.PL
“We threw them out”

Placeholder verbs (PHVs) have exceptional morphology
• They combine the demonstrative “that” with the light verb “do” (3)

• Stand-ins for regular verbs (euphemism, tip-of-the-tongue states)

• Adding a particle introduces more agreement possibilities (4a-c)

(3) PHV without Particle
imas-v-kʰen-itʰ
DEM-1AGR-do-PST.PL
“We thatdid them.”

[i.e., we threw them out]

PHVs involve reanalyzed argument structure

(5) k’atsʰ-s is v-u-kʰenitʰ
man-DAT DEM.NOM 1AGR-3IO-do:INFL
“We did that [IndObj to the man]”

(7) k’atsʰ-i (ga=)imas-v-kʰenitʰ
man-NOM (PART=)DEM-1AGR-do:INFL
“We thatdid [DirObj the man] (out)”

The special morphosyntax of placeholder verbs offers many Puzzles

PHVs resemble archaic X0+LV0 compounds (9) more than 
typical X0+Y0 compounds (10)
(9) simartʰle [tsʰad-v-q’av]-itʰ (10) v-[gulis-χm]-obtʰ

truth:NOM [clear-1AGR-LightVerb]-PST.PL 1AGR-[heart:GEN-voice]-NPST.PL
“We clarified the truth” “We have it in mind”

If compounds, do PHVs inherit irregularities from “do”?
(11) understood ~ *understanded vs. grandstanded ~ *grandstood

Hyp1: ”That” combines with “do”, forming a novel Compound Verb

Substudy 1: Baseline comparison (3, 4a, 4b, 4c)
• PHVs without particles are best. Particle + Outer Agr is worst of all.

Substudy 5: Agr position × Stem allomorphy
• Irregular stem vs. Default stem (cf. placeheld~placeholded; thatdid~thatdoed) 

• Penalty for default, worse with outer agr — structural or linear locality?

A morphological Acceptability Study tested these hypotheses
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Georgian particles: lexical, directional, aspectual
• Closed class of P0-like elements — is “that” reanalyzed as one?

(12) mo=vi-g-etʰ vs. ts’a=va-g-etʰ
PART=1RE-ROOT-PST.PL PART=1TR-ROOT-PST.PL
“We won” “We lost”

Hyp2: “That” is the particle in a novel Particle Verb Construction

PHVs might not be reanalyzed as any extant structure
(ga=)imas-v-kʰen-itʰ

(16) [[[VP PHV0 ] Voice0 ] T0] ga=v-imas-kʰen-itʰ
ga=v-imas-v-kʰen-itʰ

Hyp4: The PHV construction has truly Sui Generis morphological properties

Directions for future theoretical work
• Variation: do ratings cluster into coherent dialect groups?

• Meaning: semantics of deixis & event anaphora, complex 
lexemes & root allosemy; pragmatics of placeholding

Possible follow up studies
• Georgian: How hard is it to identify inflectional errors in PHVs, 

ordinary verbs (1), and archaic (9) or truncated (14) compounds?

• English: How good are compound verbs differing in X0–V0

compositionality? (basketweaved~basketwove, proofread~proofreaded)

Theoretical and methodological Next Steps 
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One type of V0+V0 compound involves truncation

• VoiceP coordination that preserves prefixes but suspends suffixes

(14) [TP [VoiceP mi= vi- ar ] + [VoiceP mo= vi- ar ] -etʰ ]
[TP [VoiceP PART= 1RE- go ] + [VoiceP PARTʹ= 1RE- go ] -INFL ]
“We went here and there”

The PHV’s ”that” might be reanalyzed as a truncated V1
• Semantically an event anaphor, morphologically a “verb stem” anaphor?

Hyp3: “That” is part of a novel Suspended Affixation construction

(4) PHV with Particle
a. ? ga=imas-v-kʰen-itʰ

PART=DEM-1AGR-do-PST.PL
b. ?? ga=v-imas-kʰen-itʰ

PART=1AGR-DEM-do-PST.PL
c. ? ga=v-imas-v-kʰen-itʰ

PART=1AGR-DEM-1AGR-do-PST.PL
All: “We thatdid [i.e., threw] them out.”
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PHV shape Hyp1 Hyp2 Hyp3 Hyp4

No Part (3) ✓ ✓ ✗ ?

Inner Agr (4a) ✗ ✓ ✓ ?

Outer Agr (4b) ✗ ✗ ✗ ?

Double Agr (4c) ✗ ✗ ✓ ?
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Experiment details
• 1—5 Likert judgement of a 

PHV relative to a lexical verb

• Nine 2×2 substudies (192 
items) run as co-fillers 

• 65 participants took part in 
1 or 2 sessions online 
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